CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 3

Haryana Staff Selection Commission

Notations:
1.Options showr in green color and with ¥ icom are correct.

2 Options shown in red color and with # icon are incorrect.

Subject Name: CAT 3 Steno Typist English and Hindi CET Exam
Total Marks: 200

Display Marks: Yes

Calculator: None

Magnifying Glass Required?: No

Ruler Required?: No

Eraser Required?: No

Scratch Pad Required?: No

Rough Sketch/Notepad Required?: No

Protractor Required?: No

CAT 2 Steno Typist English and Hindi CET Exarn
Group Marks: 200

CAT 2 5teno Typist English and Hindi CET Exam

Section Marks: 200
Display Number Panel: Yes
Group All Questions: No

Question Number : 1 Question Id : 168000501 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

After the battle of Taraori, Sirsa came under the control of:

Options:
1 % Mahmud of Ghazni

> % Muhammad ibn Tekish

-  Nasir-uddin Qubacha

, » Taj-ud-din Yildiz

Question Number : 1 Question Id : 168000501 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
1 ® E r\:
, » FIGFAC oA AfeRel

3 o Hﬁ?—ﬁﬂ heEl=T

4 ® dld-ﬁ-&lﬂ A=

Question Number : 2 Question Id : 168000502 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following Delhi Sultans tried to chastise the Meos through massacre and pillage?
Options:
1 « Balban

> % Iltutmish
- % Razia

4 % Tughlug

Question Number : 2 Question Id : 168000502 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

frafafie & @ el & 5w goaw & #91 &1 aeEer AR o & A ¥ 39 &= @ Iy fear ar?

Options:

Question Number : 3 Question Id : 168000503 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Firozabad near Rania (Haryana) was founded in:

Options:
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;% 1340
> % 1350
5 « 1360

4 % 1370

Question Number : 3 Question Id : 168000503 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT (FRETom) & e TheTare @ TuTIaT e @y oy of?
Cl)f)t:ns1:340
. % 1350
- v 1360

. % 1370

Question Number : 4 Question Id : 168000504 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The decisive battle between the armies of Ibrahim Lodi and Babur took place on:
Options:

1 % 21 March 1526

5 o 21 April 1526

. % 21May 1526

4 % 21 June 1526

Question Number : 4 Question Id : 168000504 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

sETeA Fdr AR AT F Tt F a7 AviE 7 w7 e O
Options:

, % 21 AT 1526

5 v 21 319 1526
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.« 21 A 1526

. 21 5 1526
4 ~

Question Number : 5 Question Id : 168000505 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Haryana was awarded the at the o™ Global Agricultural Leadership Award.

Options:
, % Dbestirrigation state

- u beststep farming state

= « best horticulture state

, % bestpericulture state

Question Number : 5 Question Id : 168000505 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g Fr oF TEEA F Aged [EERT, H % [WEPR § FFATAS fahar a7 |

Options:

|« Tafcan = =7

., » Talcad HRER T T4
;v Halca® TEEET T

4, » Talca®m IReeR T=T

Question Number : 6 Question Id : 168000506 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

As per the memorandum of understanding (MoU) signed with the Harvana government, Gionee plans to establish its
manufacturing hub in:

Options:
1 % Karnal

5 % Gurugram

=z % Kurukshetra
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4 « Faridabad

Question Number : 6 Question Id : 168000506 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gl TER & Ay FEAnER R T ST A9 (W) F AR S F srer i &
FET T TS = T AT ST 22
Options:

La&ﬁﬂﬁl’

4 v FUSHETE

Question Number : 7 Question Id : 168000507 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who among the following is the current sports and youth affairs minister of Haryana?
Options:
1 % Ram Bilas Sharma

- % Captain Abhimanyu
5 o Anil Vij

4 % Om Prakash Dhankar

Question Number : 7 Question Id : 168000507 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

R &% FAEE A IR FaT AFer & 7 Gl 7 & #9822
Options:

e HEE-g
28 2

4 % HIF THTA TTFT
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Question Number : 8 Question Id : 168000508 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is name of the wrestling competition being held as a part of the Haryana Swarn Jayanti Utsav celebrations?
Options:
, « DBharat Kesari Dangal

- % Haryana Sresth Balwan

- % Mitti ka Sher Pratiyogita

, % DBharat Freestyle Kushti

Question Number : 8 Question Id : 168000508 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gRATOT TOT ST 3ca ARG & d8d FEST @ TS Feer SaaiRar & A F 82
Options:

| v FRT FE I

o % ERATUT 453 Fears

.« THET AT wiAmfEar

. IR HIEEEe Fear

4.

Question Number : 9 Question Id : 168000509 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who is the author of the book ‘Gharounde Ret Ke*?
Options:
, + Roop Narayan Chandana

- % Parveen Sethi
- w Himmat Singh

4 % Om Parkash Panwar

Question Number : 9 Question Id : 168000509 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

WIS T F AHF JEIF & oGF P 87
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Options:

| v T ARG T
o B FI':ﬁ'UT :\qﬁ-
2" LEEEEE

4 % 3IH YT TER

Question Number : 10 Question Id : 168000510 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

“Bal Geetanjali” was written by:
Options:
, = Ranjeet Verma

5 R Subhash Rashtogi

-  Ghamandi Lal Agarwal

4 % K. P.Singh

Question Number : 10 Question Id : 168000510 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

“FTeT AT & oT@H &
Options:

FATS TEATMT

o> W

=  THET T HIETH

. x ¥ 0 R

Question Number : 11 Question Id : 168000511 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who among the following is the author of “Naya Rang™?

Options:
1 « Anita
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> w Pawan Choudhari “Manmouji’

= % Amrit Lal Madan

4 % Ranjeet Verma

Question Number : 11 Question Id : 168000511 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT # § F97 TT & J@F Hid 872
Options:

1..33-1??!?
> » 9aT TR JAHIST

2 % HHAT =Tl HITA

Question Number : 12 Question Id : 168000512 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

National Highway 10 (renumbered National Highway 9) runs between Delhi and
Options:

1 % Ambala

- « Fazilka

- u Panipat

, % Pinjore

Question Number : 12 Question Id : 168000512 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T TR 10 (JAFHTE LT TR 9) fewehr 3k ST gl

Options:
1. % 3Tel

o WITeTehr
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E_QW

4@3%

Question Number : 13 Question Id : 168000513 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which river of Haryana originates from the lower Shivalik Hills?

Options:
1 % Sahibi River
> % Yamuna River

= % Saraswati River

4 « Markanda River

Question Number : 13 Question Id : 168000513 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FiF-8r Fer giamoT #r Refes ggreat & e 9T § Seear £7

Options:

1 #® Wﬂfﬁ'

z_wugmaﬁr

4 v HTRET AT

Question Number : 14 Question Id : 168000514 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which is the smallest district of Haryana?
Options:

1 % Palwal

- % Sonipat

= « Panchkula

4 % Kaithal
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Question Number : 14 Question Id : 168000514 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

g FT Faw oer Ser siF-ar 872
Options:
l_p.-a qofael

g_wm

U=IholT
Ch, Al

4_33#54?

Question Number : 15 Question Id : 168000515 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Third time President’s rule was imposed in the state of Haryana from:

Options:
1 % 17/07/1990 to 22/03/1991

> o 06/04/1991 to 23/07/1991
z % 24/06/1999 to 01/03/2000

4 % 02/03/2000 to 04/03/2001

Question Number : 15 Question Id : 168000515 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gRAmeT ToF # JEd AR TSgAta oA & @] AT T ar?

Options:

. % 17/07/1990 & 22/03/1991
. « 06/04/1991 & 23/07/1991
. = 24/06/1999 & 01/03/2000

, % 02/03/2000 & 04/03/2001

Question Number : 16 Question Id : 168000516 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the recently held elections for Rajva Sabha seats in Harvana, how many votes of the Congress were declared invalid?

Options:
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1 # 10

o W 12
= 14

g w 16

Question Number : 16 Question Id : 168000516 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

el & # gRawn # gegwen H @l F v gu g # FEw F e de dey it fFe e a7

Options:

1 ® 10
o> R 12

4 #® 16

Question Number : 17 Question Id : 168000517 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Who is the MLA from the famous Panchkula seat?
Options:

, % Anand Singh Dangi

-~ % Randeep Singh Surjewala

- » Captain Abhimanyu

4 « Gian Chand Gupta

Question Number : 17 Question Id : 168000517 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Siag Jeper Hie ¥ fauras @i g2

Options:

1. % .:ﬁgﬁ
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Question Number : 18 Question Id : 168000518 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Bansi Lal formedthe  in 1996 after quitting the Congress party.
Options:
, w Haryana Janhit Congress Party

- % Indian National Lok Dal Party
-  Haryana Vikas Party

, » Bharatiya Lok Dal Party

Question Number : 18 Question Id : 168000518 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FEIT e Fr BIEA F T 1996 F 4@ oA o FT TS ThaT T

Options:

, « SIS AYFAA ik T U
5 BT fwrE aréf

, » ST #ieh g e

Question Number : 19 Question Id : 168000519 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Deenbandhu Chhotu Ram Power Plant, which is located at Yamunanagar, generates which of the following types
of power?

Options:
1 « Thermal
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> w Hydel
= % Nuclear

4 % Solar

Question Number : 19 Question Id : 168000519 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

THAR # Puq deey SIguR T e Fetoad § § 5E R & Regd @ SH0r war 82
Options:

| v A

it
= % ANHPT

4@'@?’:

Question Number : 20 Question Id : 168000520 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Bombay Natural History Society has set up “Vulture Conservation Breeding Centre’ in collaboration with the Forest
Department of Haryana near

Options:

,  Pinjore

5 % Yamunanagar

5 % Rewari

4 % Rohtak

Question Number : 20 Question Id : 168000520 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

sl Ao B Wl & F 9Tg AT F 37 FHET F gEaeT ¥ T 31 999 e
&I TUTIAT Fr B

Options:

1.+ EEIn

o B ]
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S.Wm

4 x JEAH

Question Number : 21 Question Id : 168000521 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Arrange the following districts in the descending order of their population:

1. Ambala

2. Kurukshetra
3. Hisar

4. Panchkula
5. Gurugram
Options:

1 W 3:5,1,2.4
5 % 5.3.1. 24

LA

il
B
%)
"

o 52541

Question Number : 21 Question Id : 168000521 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=T Ot &1 39@r 3eEr F 38 &7 7 cogieug #:3|

1. 39TeT
2.5?53%?

3. fgmr
4.#?@?%
5. TTATH

Options:

 » 351,24
o B 5: 3: 1: 2:4

% 3, 2,5 1, 4
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Question Number : 22 Question Id : 168000522 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Saraswati Tirath in Pehowa is famous for its association with:
Options:
, » Theworship of snakes

- % TheMango Fair

= % Demonstration of crafts

4  Pind Daan or offering made to the departed souls

Question Number : 22 Question Id : 168000522 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

UgaT H HIEEAr a1 S HeYd g9 % FRUT 9fEE 2
Options:

1%-$+‘Eﬁrn.

- % HTH Helm

- » RO HERiEr

, e AT &r ™ I F&ET I 3¢ 341@% T

Question Number : 23 Question Id : 168000523 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In Haryana. the Chaitra Chaudas Mela is held on the banks of:
Options:
, % Yayati Tirtha

- w Havya Tirtha
= « Saraswati Tirtha

4 % Varaha Tirtha

Question Number : 23 Question Id : 168000523 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gRAOT H, ¥ diew Fel §9F 9 W HEAdT g &
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Options:

= . m‘:ﬁﬁ
5 TIEEAT Jr

. % ST Ay

Question Number : 24 Question Id : 168000524 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

According to legend, at which place of Harvana did the Pandavas perform the rituals of ‘Jal Tarpan’ and ‘Pind Dan’ for
the peace of souls of those killed in the Mahabharata war?

Options:
1 « Pehowa

~ % Devsar
= % DBurhara

4 % Pindara

Question Number : 24 Question Id : 168000524 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

difOTer FUiHt & HJER, ARG I H AR a7C s ity F o ghann F e wue @ gt
o ‘S a9uT 3R ‘s g R ar
Options:

i EE
> B m
z ® g

e

4&3ﬁ_5-m

Question Number : 25 Question Id : 168000525 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Asvini Kumara Tirtha is located in which district of Haryana?

Options:
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e Jind
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%z % Bhiwani

4 % Gurgaon

Question Number : 25 Question Id : 168000525 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

AT FAR O g & e e 7 g g2

Options:

1_$3?5!3'|?l'
2.%?3?1'3-
g_ﬁm

Question Number : 26 Question Id : 168000526 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
With regard to shorthand, the consonants are divided into groups.

Options:
1 ® 4
o W 5
3¢ 6
4 % 7
Question Number : 26 Question Id : 168000526 Display Question Number : Yes Single Line Question Option : No Option
groups.

Orientation : Vertical
With regard to shorthand, the consonants are divided into

Options:

1 ® 4
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Question Number : 27 Question Id : 168000527 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
How many diphthongs are there in Pitman Shorthand?

Options:
1.¢ 2

Question Number : 27 Question Id : 168000527 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
How many diphthongs are there in Pitman Shorthand?

Options:
1.¢ 2

Question Number : 28 Question Id : 168000528 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many types of ‘H’ are present in Pitman Shorthand?
Options:

1_%1

2_%2

3_%3

4. ¢ 4
CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 3



CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 3

Question Number : 28 Question Id : 168000528 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many types of ‘H’ are present in Pitman Shorthand?
Options:
1 & 1

-2

> R

4 ¢ 4

Question Number : 29 Question Id : 168000529 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The position of an outline is governed by the sounded vowel in the word.
Options:
1 % last

> % second
3 o first

4 % fourth

Question Number : 29 Question Id : 168000529 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The position of an outline is governed by the sounded vowel in the word.
Options:
1 % last

- % second
5 o first

4 % fourth

Question Number : 30 Question Id : 168000530 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The liquids flow into union with other consonants and form consonants.
Options:

, % single
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> « double
- w triple

4 % four

Question Number : 30 Question Id : 168000530 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The liquids flow into union with other consonants and form consonants.
Options:

, w single

> « double

- x triple

4 % four

Question Number : 31 Question Id : 168000531 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Diphthong is a union of vowel(s).
Options:

1 ¢ two

- % five

3 % three

4 % four

Question Number : 31 Question Id : 168000531 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Diphthong is a union of vowel(s).
Options:
1« two

> % five

3z % three
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4 % four

Question Number : 32 Question Id : 168000532 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A large initial circle represents the double consonant

Options:
1 % kwa

5 #% str
2 o SW

4 % shan

Question Number : 32 Question Id : 168000532 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A large initial circle represents the double consonant

Options:
1 ® kwa

> % sfr
2 o SW

4 % shan

Question Number : 33 Question Id : 168000533 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Choose the correct outline for situation.
Options:

1@ _-_'__

4. v

Question Number : 33 Question Id : 168000533 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Choose the correct outline for situation.

Options:
—_——

.. ==

2. Q | .

3 % fy s

4. v =

Question Number : 34 Question Id : 168000534 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How to represent the below sentence in shorthand:
The premises we have now taken one in the central part of the city with all facilities

Options:

. o, P =\ : il gt

1. %
.- '\""T}I o e |___‘ - wa 2 T \ ~f| CA iﬂ L
o wf
- ’\" £ |'u_..___,:x__L__“ s ‘_f 'ﬂ—?" 'Ib__ 1"?_‘5 Vi e
3 ®
: = Il’v 3 K 7
0 J\";.'.‘.- £ \‘“--__..-,L I|__1 = ) ‘o 1 LY
4 ®

Question Number : 34 Question Id : 168000534 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How to represent the below sentence in shorthand:
The premises we have now taken one in the central part of the city with all facilities

Options:
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\.hl""[}.fk"'\.h. S ’_,__.-*h_‘ 'E_;f v’ ? :_‘\LJ.‘L
] "

At SR

e

; "u.;_», 5 L_h_-]t: S e B2 “:ﬂ"c_ ! '»EA'L::
z ®

_+__n_'_'q'_'} L I\“—u.nll-—xi -_1_":—,-"" Il"-’ {i{‘{-lb
4 %

Question Number : 35 Question Id : 168000535 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How to represent the below sentence in shorthand:
Thank you for your letter of the 4W instant forwarding cheque for thousand rupees.

Options:

G > i R K

=4 . e A
1 %
o - i Fi
II' e —
lq?r—»awxw' i —
o ®
IIr | - f F f
2l u-:L.J_,}
3 R
| >
b o Gk Cari o g )
E7e
4. <

Question Number : 35 Question Id : 168000535 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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How to represent the below sentence in shorthand:
Thank vou for your letter of the 4™ jnstant forwarding cheque for thousand rupees.

Options:
[ (.
L_":T ‘.f’fL :-_,-_!_Ltr,.-_"—“ fg__,j\;
.
- R ! 7 .r'i_
! e 4N K 'L_J: "xa
> ®

1  } f
{’-f' z 'L-h— {q_.t\ 3 et L L { -
4

Question Number : 36 Question Id : 168000536 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

= L ‘U TS F GHT TT TATC?

A _J

r

.

TR

Options:

1_%#-
E.WB

3_32(:
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Question Number : 36 Question Id : 168000536 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

€ -

‘T U FT CRUEIE 9107

Options:

1_%A

Question Number : 37 Question Id : 168000537 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Y

=W U5 e+ ggm=
Options:
v @
o W '-\er
3 ® e}

4.&“&?'?f

Question Number : 37 Question Id : 168000537 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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“

9 ¢ ReE & ggEe

Options:
L &
o W -'\q-
T é-

4$$ﬁ

Question Number : 38 Question Id : 168000538 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIT FH IdT Wbl & 36 I & [T FEl Hepa-Told qg= |

A. —f\M

B.

D. e

Options:

1 ® A
>« B
T W C

4 % D

Question Number : 38 Question Id : 168000538 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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.

Options:

I_RA

Question Number : 39 Question Id : 168000539 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

S +
: — TP AT FI TgAH|

Options:

1 & ElIEHI i T E

5w T FEREETd
4 mw
4 & ﬁﬁﬂ-w

Question Number : 39 Question Id : 168000539 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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& +
* — T AT F T

Options:

i TR FRean

5 % FLAT PR
4 IR Frward
g ﬁﬂﬁﬁﬂ?ﬂrﬁﬁ

Question Number : 40 Question Id : 168000540 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TIRUT A HT 37T FT & HAR TaeTd’ oeg # fFE s0e & 37T &Y &7 =A1fg0?

Options:

1 & d
o W &l
T W H

4.« 9

Question Number : 40 Question Id : 168000540 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

WURUT S0 H1 3T T & AR TaeTl oeg # fFE s0e &1 37T &Y &7 =1fgu?

Options:
1 ® d

2.2351-

4.4 9

Question Number : 41 Question Id : 168000541 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

oeE H HIUNUT Sl {61 H1 GAT oA & FFAR Tegal H [hd il HT a37 A 872

Options:
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o G

4 %

Question Number : 41 Question Id : 168000541 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

eeg H WIURUT =i {1 H AT A & FFAN Teal H fohE il HI q57 L 87

Options:
1 #® q

> Q

3_23(:'-

4 %

Question Number : 42 Question Id : 168000542 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ot off ciee & 95 () Reg 3 & &1 9@ S B7

Options:
1 ® Ud, dd, Hdd, Yol

o GH, G, &, FH

. % I, T, &, B

4 % 9, oA, T, T

Question Number : 42 Question Id : 168000542 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fordly off easa & wge () Taeg 3md & &)1 91 S @7

Options:
1 ® Ud, dd, Hdd, Y

o  THA, G, &, FH
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T B m:aﬁrgﬁsm

4 % 9, oA, &, T4

Question Number : 43 Question Id : 168000543 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

qUT fATATTER erearer _7.'12_ —. (FfATE) & gEL T H TR

A. “1‘,-*

Options:
1 #® A

Question Number : 43 Question Id : 168000543 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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T TAGATFER rearer il— (FATT) & T TET FH BT

Options:

1.%1&

Question Number : 44 Question Id : 168000544 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Ter Mo & ‘9T U=l & Fea ¥ T 94T 87

Options:
1. ® HA

g_ﬁﬁ-
S.WT_TE

4. H

Question Number : 44 Question Id : 168000544 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

B=er MR F ‘7 U=T F Fex ¥ FAT 44T &7

Options:
1, % JHI
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zlﬁﬁ

4o H

Question Number : 45 Question Id : 168000545 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

qoT [ IATTHIT aTerTer :%—- FT TEr @il FeaT 9910

Options:
L LY
1 ¢ hlY hid Igel = %Q

o % FY TS FeAT TEAT &
- % FH EIA e TR
4 % FTH EIT e TGRS g

Question Number : 45 Question Id : 168000545 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T HTATER TR R R TR A

Options:

| v FH TS @ =T

o % T I AT AET 8
- % U F e Afge
4 % Y E Fel TBA B

Question Number : 46 Question Id : 168000546 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Select yvour answer from the options given:

Pyongyang said that it had tested hydrogen bomb device many times more powerful than
atomic bomb.
Options:
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| & 88 an
o B d. dIl. an
5 % the, the an

4 % 8 the, an

Question Number : 46 Question Id : 168000546 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Select your answer from the options given:

Pyongyang said that it had tested hydrogen bomb device many times more powerful than
atomic bomb.

Options:
1 ¢ d. d. a1

> % 8 an an
5 % the, the, an

4 % & the, an

Question Number : 47 Question Id : 168000547 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blanks in the sentence below with suitable articles. Select vour answer from the options given:

head of International Atomic Energy Agency, the global nuclear watchdog, deseribed test as
y extremely regrettable act".

Options:
1w The, the, the, an
5 % The. a, the, an

5 % A, the, the an

4 % A a the an

Question Number : 47 Question Id : 168000547 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Fill in the blanks in the sentence below with suifable articles. Select your answer from the options given:

head of International Atomic Energy Agency, the global nuclear watchdog. described test as
extremely regrettable act".

Options:
1w The. the, the, an

> % The.a, the an
- % A the, the, an

4 % A, the. an

Question Number : 48 Question Id : 168000548 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable modal verb. Select vour answer from the options given:

North Korea says that it has successfully tested a nuclear weapon that be loaded on to a long-range missile.
Options:
1 « could

> % should
5 x mMight

4 % would

Question Number : 48 Question Id : 168000548 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Fill in the blank in the sentence below with a suitable modal verb. Select vour answer from the options given:
North Korea says that it has successfully tested a nuclear weapon that be loaded on to a long-range missile.
Options:

1« could

- % should

5 % mMight

4 % would

Question Number : 49 Question Id : 168000549 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Read the sentence given below and fill in the blank with a collective noun, select vour answer fiom the options given below.

I have of tasks on my desk which I have to complete before I leave office.
Options:
,  anagenda

> % aheap

% % aclutter

4 % abattery

Question Number : 49 Question Id : 168000549 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Read the sentence given below and fill in the blank with a collective noun, select vour answer fiom the options given below.

I have of tasks on my desk which I have to complete before I leave office.
Options:
,  anagenda

> % aheap

=z % aclutter

, % abattery

Question Number : 50 Question Id : 168000550 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The passage below has been given in four parts as options. One of the parts contains an ervor. Select the option that has
the error:

Options:
, w The country’s elite team of rescuers, known as "the moles”,

- % areleading the volunteer rescue efforts.
« The group was formed in the wake of the devastating 1985 earthquake

4 « Who killed up to 10.000 people.

Question Number : 50 Question Id : 168000550 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The passage below has been given in four parts as options. One of the parts contains an ervor. Select the option that has
the ervor:
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Options:

, w The country’s elite team of rescuers, known as "the moles",

- % areleading the volunteer rescue efforts.
5 % The group was formed in the wake of the devastating 1985 earthquake

4 + Who killed up to 10.000 people.

Question Number : 51 Question Id : 168000551 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below select the one that has the correct spelling of the highlighted word:
Options:

1 ®

Previous studies of Neonderthal remains indicated that they developed more quickly than modern humans - suggesting
that their brains might be less sophisticated.

2. %
Previous studies of Naendertheal remains indicated that they developed more quickly than modern humans - suggesting
that their brains might be less sophisticated.

=
Previous studies of Neanderthal remains indicated that they developed more quickly than modern humans - suggesting
that their brains might be less sophisticated.

4 ®
Previous studies of Nianderthal remains indicated that they developed more quickly than modern humans - suggesting
that their brains might be less sophisticated.

Question Number : 51 Question Id : 168000551 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below select the one that has the correct spelling of the highlighted word:
Options:

1. %

Previous studies of Neonderthal remains indicated that they developed more quickly than modern humans - suggesting
that their brains might be less sophisticated.

e
Previous studies of Naendertheal remains indicated that they developed more quickly than modern humans - suggesting
that their brains might be less sophisticated.

i 4

Previous studies of Neanderthal remains indicated that they developed more quickly than modern humans - suggesting
that their brains might be less sophisticated.
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4 ®
Previous studies of Nianderthal remains indicated that they developed more quickly than modern humans - suggesting
that their brains might be less sophisticated.

Question Number : 52 Question Id : 168000552 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that offers the correct synonvim of the highlighted word in the sentence given below. Pay attention to the
meaning of the highlighted word in the context of the sentence:

Due to the earthquake some buildings were severely damaged and a bridge had collapsed in the state.
Options:
|  region

- % environment

5 w testify

, % proclaim

Question Number : 52 Question Id : 168000552 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that offers the correct synonyvin of the highlighted word in the sentence given below. Pay attention to the
meaning of the highlighted word in the context of the sentence:

Due to the earthquake some buildings were severely damaged and a bridge had collapsed in the state.
Options:
|  Tegion

> % environment
5 x testify

4 % Dproclaim

Question Number : 53 Question Id : 168000553 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the option that offers the correct antonym of the highlighted word in the sentence given below. Pay attention to the
meaning of the highlighted word in the context of the sentence:

Last evening I trotted through the narrow streets, making my way through rubble and debris to the park in the center of the city.
Options:
, « building

- % development
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5 #® scree

4 % brash

Question Number : 53 Question Id : 168000553 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Selecr the option that offers the corvect antonym of the highlighted word in the senience given below. Pay attention to the
meaning of the highlichted word in the context of the sentence:

Last evening I trotted through the narrow streets, making my way through rubble and debris to the park in the center of the city.
Options:

| « Duilding

- % development

5 #® scree

4 % brash

Question Number : 54 Question Id : 168000554 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below select the one that can be used as preposition to fill in the blanks in the given sentence:

A strong tremor southern Mexico temporarily suspended the search SUIVivors this week's
powerful earthquake the capital, Mexico City.
Options:

1w in, for, of, in
5 % of, for, of, in
5 % in, for, off, in

4 % in, with, of on

Question Number : 54 Question Id : 168000554 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below select the one that can be used as preposition to fill in the blanks in the given sentence:

A strong tremor southern Mexico temporarily suspended the search SUIVIvVors this week's
powerful earthquake the capital, Mexico City.
Options:

1 in, for, of, in
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» % of for, of in
5 % in, for, off, in

4 % in, with. of, on

Question Number : 55 Question Id : 168000555 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below select the one that has the prepositions placed correctly to form a proper sentence:
Options:

1%

Shipments for food. water and generators are starting to arrive in the main port in San Juan. which has reopened.

e
Shipments of food, water and generators are starting to arrive into the main port on San Juan, which has reopened.

=
Shipments of food, water and generators are starting to arrive for the main port in San Juan, which has reopened.

4 &
Shipments of food, water and generators are starting to arrive at the main port in San Juan, which has reopened.

Question Number : 55 Question Id : 168000555 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

From the options given below select the one that has the prepositions placed correctly to form a proper sentence:

Options:
1 ®

Shipments for food, water and generators are starting to arrive in the main port in San Juan, which has reopened.

=N
Shipments of food. water and generators are starting to arrive into the main port on San Juan, which has reopened.

SR
Shipments of food. water and generators are starting to arrive for the main port in San Juan. which has reopened.

4.V
Shipments of food. water and generators are starting to arrive at the main port in San Juan, which has reopened.

Question Number : 56 Question Id : 168000556 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FTIGFT UG H T E:

Options:
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IToT /iEr

1 ® 2
. % =TT EE

. » UL E

4 % qﬁ'ﬁﬁi‘

Question Number : 56 Question Id : 168000556 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FTIGFT UG H H E:
Options:

aoT Hier

1 ® 2
. w ST HE

. » TUT T

4 ® ﬁﬁ

Question Number : 57 Question Id : 168000557 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘TATEHT' e H AT &
Options:

| v Hegdr AT

4 % S55d

Question Number : 57 Question Id : 168000557 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TATHHT e & TAT &

Options:
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4% S5

Question Number : 58 Question Id : 168000558 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

faerT &7 == Jrer aEFner & e U o gem:
e
o % FIRTEST
5 % SICETHEG

4. FlaETae

Question Number : 58 Question Id : 168000558 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘SfETH T A Irer I & T v e g
Options:

| % TR

> % SICETHS

3% 3i§ig afae

4. < $i§F§ q 4

Question Number : 59 Question Id : 168000559 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e g FH AT Fdl &

Options:
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e

4 ® &

Question Number : 59 Question Id : 168000559 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T g F TAATE Fdo ¢

Options:
1 ® Hel

> o JHlAT

3.&3??
S

4 B o~

Question Number : 60 Question Id : 168000560 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FA-H g HT T I3YL 872

Options:

llwm

2. o el e
T W ﬁ'ﬂﬂ-

4_%%

Question Number : 60 Question Id : 168000560 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIA-H U H TA=T IR 872

Options:

1_&;3—113-?&?4?
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e 4 SCIRAE
z ® ﬁﬂﬁ

4_%%

Question Number : 61 Question Id : 168000561 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ST e F FAH BT &

Options:

1_&3:"3':?

o % Hleld
s v T

4_%33‘]3_\"

Question Number : 61 Question Id : 168000561 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TT oleg FT A BT E:

Options:

1_%7"3':?
o % Hled
s v T

4.%33'13-\"

Question Number : 62 Question Id : 168000562 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIA-TT e dHH &7
Options:

l_tﬁm

> % SATHET

i 4 FRTa
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4.%-33“_%-

Question Number : 62 Question Id : 168000562 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HIA-TAT g ToHH g7
Options:

1 & HITd

z_ﬁm

i 4 TeTaT

4.%-35;'_%-

Question Number : 63 Question Id : 168000563 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

S S @ T JEre &
Options:

1_w§3ﬁmﬁrm

Lis

, x TE T

o

ym B T QI

e =

4%:5&’3%

Question Number : 63 Question Id : 168000563 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

S FerEET & T JErEw §
Options:

llgggﬁm??rm
2_&&3‘

T %’gﬁrm
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e =

4ﬁﬁgm

Question Number : 64 Question Id : 168000564 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIA-TT o TET &7
Options:

1.&3':'3-
z_ﬁmﬁ

B_QE_{

Lis

sv B

Question Number : 64 Question Id : 168000564 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

FIA-TT 2reg TZT &7
Options:

1_&3':'?:
E_WET%

g_ﬁm

his

P=r-4

43

Question Number : 65 Question Id : 168000565 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘37THTIr 9T T HY gl &

Options:

1_&-‘3@.1?:[
o> % 94lel

4 o 9
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Question Number : 65 Question Id : 168000565 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘3TRTIT 9TeE, &1 HY &l &
Options:

1_&@?
o % 94e]

. x T

4&-“"%

Question Number : 66 Question Id : 168000566 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

fw=—-2,x=3,y=0andz = —iﬁhenu =7

XZ — W
Options:
1 & -12
o W 14

z. ¢ 12

g -14

Question Number : 66 Question Id : 168000566 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e w=—2x=3y=03Rz=—2 § ar == 7

2 XE —W
Options:

S -12
o B 14

4 #® -14

Question Number : 67 Question Id : 168000567 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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In a circus show, due to decrease in crowd, the 1% day. ond day and 3rd day show tickets were soldat §$ 15, $ 7.5 and $2.5
respectively. The total strength of visitors in these 3 days were in ratio 2 : 5 : 13 respectively. For the whole show, the
average charge per visitor is:

Options:
1 ® %55

>« $5
=z ® $ 4.5

4 R $6

Question Number : 67 Question Id : 168000567 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TH HepH H UHN H FAT g & HROT g e, GHY foaT 3R ey o of eend wwern § 15, § 7.5
A § 2.6 or S AT o) g7 AT & F T gl F For TEIT M HFIS FHA: 2:5:13 7]
R o & o, e gew o @w '

Options:

>v $5

4%3$6

Question Number : 68 Question Id : 168000568 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A person deposits T 2,000 in a bank which becomes ¥ 2,600 in 5 years at a certain rate of simple interest. If the rate is
increased by 4%, then the amount after 5 years would have been:

Options:
, % 32,850

> % 32,950
2 % 2,900

4 v T3.000

Question Number : 68 Question Id : 168000568 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 3



CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 3

U =ufag UF S & T 2,000 TR0 5T ST T APug er s FAET FLar £, S 5 a¥ "¢ T 2,600
9 Id &) Afe s Frex F 4% Fr e H A &, a5 IT T I g Jror g=Ar get:

Options:

. % ¥2,850
, » %2950
. » %2900

. v % 3,000

Question Number : 69 Question Id : 168000569 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A, B and C are three traders. A sells his goods such that it is 50% cheaper than B’s goods but 50% costlier than C’s
goods. The cheapest among the three traders is:

Options:
1 # A

3. ¢ C

4 % Allare equal

Question Number : 69 Question Id : 168000569 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A, B 3ix C &= =t §1 A 37T a¥gT B T 98T 50% FH IH T A9 §, Ik SR aEgE C
$T T3 Fr 37vET 50% A g g1 A sl # FEE F@Edr aEe FHadr g7
Options:

1.23#.

2.338
z« C

, » T TR E

Question Number : 70 Question Id : 168000570 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Number of complex roots of the equation x* — |3x| = 0 is:

Options:
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Question Number : 70 Question Id : 168000570 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

x? —|3x| = 0 FHEROT & WEASN TET A TEA

Options:

1_%4

Question Number : 71 Question Id : 168000571 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An overhead tank has two holes. 15 and 29 can empty the tank in 9 minutes and 6 minutes respectively. What will be
the time taken to empty the tank if water leaks at a constant rate and both the holes are open together?

Options:

1 :
_ 3- minutes
1. % 5

2 .
3= minutes
- B 3

4 :
_ 3- minutes
3 ® 5

3 .
_ 3- minutes
4 ¢ 5

Question Number : 71 Question Id : 168000571 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TF s &% F o B &1 vEer #R v Bn &F o w9 e 3k 6 we F wre = wea
gl Tfe O g = oy @ 7 e § i o 7 e v TR @ g 8, & & A g
g # fraar @@y wEem?

Options:
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31 e

1.2.$
%33%1?!7-:3

3% e

o ®

33 BAae

4 o

Question Number : 72 Question Id : 168000572 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Train A, which is 120 m long, and train B, which is 280 m long, are moving towards each other in parallel lines at speeds
of 45 km/hr and 30 km/hr respectively. The time taken to completely cross each other is:

Options:
1 ® 224 Sec

> ® 20 Sec
= % 19 Sec

4 ¢ 19.2 Sec

Question Number : 72 Question Id : 168000572 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T A, ST 120 #Hex @ g, 3R @ B, S 280 Hiex w4l €, TS gEY H AR TAGR dEAl W FA:
45 fFasferae AT 30 fredeyae & o1 & Te W@ g1 Ue gAY & UK F A Al & ganT fordr
HA 91T AT &

Options:

| % 22.4 ¥Fs

4 v 19.2 T

Question Number : 73 Question Id : 168000573 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Working 7 hours per day. 2 men and 3 women can complete a task in 5§ days. Working 3 hours per day. 4 men and
4 women can complete the same task in 7 days. Then, working 4 hours per day, 7 men can complete the same task in:
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Options:

| Ddays

5 w 4.5days

5 ® 3.5 days

4 % 6days

Question Number : 73 Question Id : 168000573 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2 o9 3R 3 Afgere gffea 7 9T FE = wF FE F 5 G F @ F wHA g1 4 W AN 4
AfgeT Sfafest 3 9¢ FF FF W FE I 7 & A GATT Y T ¢l A, 7 T Fdied 4 G I
TR U7 FT F Fda 6 H THCT FT TFhd 87

Options:

1_,5%?1‘
. % 4.5 &t
5 % 5.5 &t
4 ® 6 =

Question Number : 74 Question Id : 168000574 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A mixture is made with liquid, 4 parts of which are water and 6 parts syrup. What part of the mixture must be taken and
replaced with water so that the mixture contains half water and half syrup?

Options:

1 ® 5

o | =

o o

w |

Question Number : 74 Question Id : 168000574 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Te THS0T U aXel § 4T a7 &, TormH 4 9T gt A 6 st B § Beor # & Gae amr
9T B SCeT ST IeT arfes fHA0T # mer 9 AT smr e g s

Options:

1 ® 5

| =

o o

w |

Question Number : 75 Question Id : 168000575 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Lekhya bought an article for ¥ 5,844. Due to some defects in it, she had pay ¥ 156 to a mechanic for its repair. Then, she
sold it for ¥ 5.700. Her loss percent is:

Options:

> % 2.46

Question Number : 75 Question Id : 168000575 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

oEAT UF IEg # X 5,844 F TG g1 FHA T WA B F FNRUT, 3¢ 30 U W F R
Henfoleh ®1 X 156 & 37T &<l g1 e Jg 38 T 5,700 & a7 & §1 38 @it &1 Fioderd &

Options:
1 #® 55
- % 2.46

2« D

g # 25
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Question Number : 76 Question Id : 168000576 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ball of 400 g starts moving in a straight line with a velocity of 4 m/s on a rough plane surface. Its velocity reduces to
1 m/s in 2 5. The decrease in its momentum is:

Options:

;% G.4kgms_1
o ® G.Ekgms_l
5 o I.Ekgms_l

4 % 1.61~:gn15_1

Question Number : 76 Question Id : 168000576 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

400 IMH & TF g 4 AYTFS F 37 T TF A W@ H GG TAGH 6 W T Y& HLr g
SHET &7 2 Vs A 1 HeUTHe FH7 & a1 §1 3 F @397 & 3= Jrer F7 g

Options:

| % 0.4 feiremy ey dee |
. % 0.8 faeame ey A= |
3¢ 1.2 el e Ao |

, % 1.6 e e d9e |

Question Number : 77 Question Id : 168000577 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A girl of mass 38 kg jumps with a horizontal velocity of 4 m/s onto a stationary cart of 2 kg free to move on a smooth
plane surface. The magnitude of her velocity after the cart starts moving is:

Options:
1 % l4m/s
> % 2.8m/s

3 « 3.8m/s

4 % 5.2m/s
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Question Number : 77 Question Id : 168000577 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

38 R X FT UF wEr 4 HeUdEs & aifas a9 & 2 fFeems i v B Semmd ¥ Fedr
S T R TEad T8 W 9 & T 9T €1 SRS F I9 F a5 3T 39 H THAT g

Options:

Question Number : 78 Question Id : 168000578 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A porter raises a box of 10 kg through a height of 1.5 m. During this process, the work done by force of gravity is:

Options:
| o —147]

> % 1477
5 % —2947]

4 % 2047

Question Number : 78 Question Id : 168000578 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T For 10 feamH & o se8 #1 1.5 e F FA13 dF 301 g1 3§ Ihar & e, ecaruur aw
camr foRar T/ = g

Options:

147 5@

o » 147
. o 294 S

L% 2947

Question Number : 79 Question Id : 168000579 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Anijni of 30 kg runs up a flight of stairs in her school having a rise of 4 m in a time of 3.0 s. The rate of work done by

her is:
Options:
;. % 196 W
> % 240 W
= o 302 W

4 % 588 W

Question Number : 79 Question Id : 168000579 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

30 FraiEms & A H9H Te $T 4 FHex = @fear 3.0 ¥ # 9 I §) 39F gan e v

FT FT T B

Options:

. % 196 T
., % 240 TE
s v 392 T

. % 588 TTT

Question Number : 80 Question Id : 168000580 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

The mass of a planet is é th that of the Earth and its radius is i th that of the Earth. If the weight of an object on the
planet is m times that on Earth. then »n 1s:

Options:
2
1 #® 3

W

w |

4 &

Question Number : 80 Question Id : 168000580 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Th TE T FeAA T % GeAA & L A AR s e g & few # ;a1 ¥ 9y 7w W
aﬁﬂm{ié‘rwmmmnﬂma’ra‘rn%:
Options:
2
| % 3

L
8
L |

L | ce

Question Number : 81 Question Id : 168000581 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following is an acidic oxide?

Options:
. & MgO

Question Number : 81 Question Id : 168000581 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

=T 7 ¥ FiF 37707 d=aEs 22
Options:

| % MgO

> v 502

4 % CaQ

Question Number : 82 Question Id : 168000582 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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What is the pH value of an aqueous solution containing sodium chloride salt?

Options:
1 & 0

4 & =7

Question Number : 82 Question Id : 168000582 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

TIfETH FRSS 1G0T Fd el [erda & pH A #471 gem?

Options:

1_%0

o W ::'?

Question Number : 83 Question Id : 168000583 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following is NOT a general characteristic feature of non-metals?
Options:
, w Electronegativity

> % Ability to form anions

= % Presence of 4 to 7 electrons in the outermost orbit

4 Ability to form basic oxides

Question Number : 83 Question Id : 168000583 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

ffofa & @ Fia sengst Fr AT AfEeere Fewar a8 82
Options:
ECURERILECT)

1 %

CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 3



CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 3

. % TUTASA ATt $r &THar
.« SEY FET H 4 ¥ 7 FeagiaAl @ Fareutay

, v BT HGHTES a1 T &THa

Question Number : 84 Question Id : 168000584 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following metals can displace lead from its salts?
(The descending position of metals in the reactivity series is - iron. lead. copper, silver, gold.)

Options:
. % Copper

> « Iron
z % Silver

4 % Gold

Question Number : 84 Question Id : 168000584 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tralofe § ¥ #la-ar arg 39 70 ¥ o5 eiE & e 22
(afesaar g@en 7 g3t F1 HEUE FA FH TFR ¢ - AR, @S, JmE, =96, qiern)
Options:

| % B (TTE)

. o IRRA (ST1ET)

, « Tios (Fre)

Question Number : 85 Question Id : 168000585 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What is the total number of molecules present in 14 grams of nitrogen gas (N»)?
Options:

33
1. o 3015 %10~
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5 % 2%6.023 x 108
= % 6.023 x 1022

4 % 6.023 x 1041

Question Number : 85 Question Id : 168000585 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

14 IMA ASESA 37 (Np) H 39eUT For HUai @ FE&ar fha=r grfr?
Options:

.« 3.015 x 1023
o % 2 % 6.023 x 1023
2 % 6.023 x 1022

4 % 6.023 x 102!

Question Number : 86 Question Id : 168000586 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The National Song of India — ““Vande Mataram™ is composed in which raga?

Options:
1 « Desh

> % Malhar
- % Shankarabaranam

4 % Todi

Question Number : 86 Question Id : 168000586 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

SRA FT T T - "9 ATRA" FiF-9 T H T 7247 g7

Options:

| @ ST
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o % HEEH
5 % YHTHIOTH

4_$F?I€I'

Question Number : 87 Question Id : 168000587 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which language did Gautama Buddha deliver his discourses?

Options:
1 % Sanskrit

- « Pali
- % Magadhi

4 % Apabhramsa

Question Number : 87 Question Id : 168000587 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AaH g2 F 3R FEES PiA-A7 o 7w 47

Options:

+

1 =% W
5 % HTAr

4 % 3O

Question Number : 88 Question Id : 168000588 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The black soil found in India gets the colour due to the presence of which of the following material/compound?
Options:
, % Nitrogen

- % Carbon

5 « Titanium
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4 % Iron Oxides

Question Number : 88 Question Id : 168000588 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e & ¥ Fia-a e/t fir suftaly & SR Rg # 9% A= Jrelr Freir HET & 3ET 9o
g 872
Options:

1_%-3"_{@??‘-
2_%%&7{

. v TEciAaA

, « HTIS 3FuEs

Question Number : 89 Question Id : 168000589 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

India has made progress in the area of education after the inclusion of which of the following in the 86 amendment of 2002?
Options:
, = Rightto independent skill

-~ % Right of alternate education
- w Rightto lower education fees

4  Right to education as fundamental right

Question Number : 89 Question Id : 168000589 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

I¥ 2002 &F 86 F MUT H FE BT Fr affT = & 9C d1T o 2T 87 F geria & 87

Options:

| % TIAT Fre 7 HOER

. % dehiedeh TRIETT &7 TUeR

Suﬁmﬂﬂmqﬁ-l F{d & HEFT

4 v Fifos 3R F 77 F W 77 3R
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Question Number : 90 Question Id : 168000590 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which union territories send their members to the Council of States?
Options:
, « Puducherry and Delhi

- % Andaman and Nicobar Islands

- % Dadra and Nagar Haveli

4 % Daman and Diu

Question Number : 90 Question Id : 168000590 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

e T 2T A T 397 HSEAT &7 T=Ar F 9ue H 79 27
Options:

l_wqﬁfriﬂ?ﬁﬁﬁ

HSAA 7 HHER g3 T

.

- % GG T T geell

4 % GAA T

Question Number : 91 Question Id : 168000591 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Name the first Indian space mission to study the Sun. which is slated to be launched in 2019-2020:
Options:
, % virajL1

5 o Aditya-L.1
5 % Suryva L1

4 % RaviLl

Question Number : 91 Question Id : 168000591 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

I & HEGAS &3 & (o0 Tgel AT FaaT e &1 7, 5f 2019-2020 # #ew f&ar = &

CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 3



CAT 3 Steno Typist English and Hindi CBT 13th Nov 2017 Shift 3

Options:

1 ® ﬁTl?Tfﬁ1
o o HIfEeT-Ta 1

g !ﬁ"ﬂ?—«l"]

Question Number : 92 Question Id : 168000592 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What does the 2015 Rohingya crisis refer to?
Options:

, w Severe drought in parts of Myanmar caused by El Nifio

- % Thousands of people originally from Thailand fleeing on boats to the neighbouring countries

=
Mass migration of thousands of people from Myanmar (also known as Burma) and Bangladesh in 2015

, % Thousands of acres of crops in Myanmar being destroyed by higher concentration of CO3

Question Number : 92 Question Id : 168000592 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

a¥ 2015 =T UTEIAT e FT 27

Options:

TS Al 3 HRUT FAAN & & LA J T g

1. "

A & & Ul5els § §ARI ART #7 Alprsil F TSIAr AT Hr 3T 1T

.

= 4

AR (5 78T & a7 @ of o= Sar 2) 3 sy ¥ 2015 # o fgsat &7 a2 duw w9

4 %

FATAN & g1 s {7 X el wF@al &1 COp # 3=+ HFgaT & FROT 7€ g

Question Number : 93 Question Id : 168000593 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

India will play the host of the ICC Cricket World Cup in which upcoming year?

Options:
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, ® 2031
> % 2027
5 % 2019

4« 2023

Question Number : 93 Question Id : 168000593 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

AT e a9 FedEr e Beg F9 Fr aFaEr F:Em?
Options:

| % 2031

, & 2027
2 = 2019

. v 2023

Question Number : 94 Question Id : 168000594 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which village in India won the Smart Village Award 20177
Options:

, « ISKCONs Govardhan Eco Village

> % Buchkewadi
= % Dhule

4 % Nandurbar

Question Number : 94 Question Id : 168000594 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

R % FE TE F TAC TH [WERR 2017 Sfar 87

Options:

| v SERIA & AMEYT g e

EEETE

o B 2
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Question Number : 95 Question Id : 168000595 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

‘What is the name the festival featuring the best and the most creative takes on the potato pancakes, which is slated to be
held in New York in December 20177

Options:
1 % Reibekuchen

> % Bramborak

- % [lortilla de papas

4 « Latke

Question Number : 95 Question Id : 168000595 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

aieet Yo W HEH =0T AN WAl TereAs TEgia aTer cdigR # A 4 g, o fewet 2017
H 7gie # ¥Efea fRar Sreem?

Options:

Question Number : 96 Question Id : 168000596 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If LONDON is coded as 379879 and CHINA is coded as 24695, then how would vou code CANADA?
Options:

1 & 259585

~ % 255985
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5 % 259855

4 % 295855

Question Number : 96 Question Id : 168000596 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

afy LONDON #r 379879 3T CHINA Fr 24695 & &9 & F1T fFam =mar § ar 39 CANADA Fr =&
FE FLET?
Options:

. v 259585
, % 255985
. 259855

., # 295855

Question Number : 97 Question Id : 168000597 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If BOOK = 5, SCHOOL = 7 then TEACHER =7
Options:

1_%5
> o 8

3_%9

T 10

Question Number : 97 Question Id : 168000597 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

gfe BOOK = 5, SCHOOL = 7 af TEACHER = ?
Options:
1 & 6
2 8

3%9

4 #® 10
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Question Number : 98 Question Id : 168000598 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the set of letters that completes the first word and begins the second.

MENT () IGIN

Options:
1 ® AR

E_QER
z. ¢ OR

4. % IR

Question Number : 98 Question Id : 168000598 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3 IEI-IIA & SIS S T8 Meq F G HAT @1 AR GEL e FT IANFE HAT &

MENT (_) IGIN
Options:

1 ® AH
o B ER
3 v OR

4 #® IR

Question Number : 99 Question Id : 168000599 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Select the set of letters that, when added as suffix to the letter/set of letters from the image, forms a meaningful English word.

LA

CRO \

ch’
e
BR

Options:

1 ® NEK

()

E_QK_E

E_WEN
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4 & WN

Question Number : 99 Question Id : 168000599 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

HERT & 38 AT 1 TIA F{ 0 BT F BREER-TE S T TFF F T H A3 T W/ T 7240900
RS e T

CRC} A\
BRO//M

Options:

1 ® NK
o> R KE
=z R EN

4 v WN

Question Number : 100 Question Id : 168000600 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the given numbers would complete the series given below?

8. 11.9, 12, 10,13,
Options:
1 & 10
o W 13

= 11

g W 12

Question Number : 100 Question Id : 168000600 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Tafef@a & @ -8 FEwr A= & 71F s@er F T HEn?

8. 11,8, 12,148, 13,

Options:
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1 ® 10
o> R 13

2 o 11

4 R 12
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